x1073 x1073

o
[N

< dcotl>)
o
=
a1

................................................................

o
o

J——
h o h
T T T [T T [ T T[T T[T T[T T [ T T[T 17T

(@)
T T T[T T [T I T [ TT T[T I T[T T T [ TTTI[TrTT

..... Les

: 2
Sl 3
. nd 1
’2

iy
TTTT[TTTIT]

o
a1
TTTT[TTTT]
.
—
——t

_ I
2
TPlpoT (PCA t%obeamlinélf)

=
o
N

3

MKF_TTorngmar

—=— DOQM_]

—e— DOQM_mkFit_TT_JanUpdate-noErr
—— DQM_mKFit_TT JanUpdate-statErr
—— DOM_mkFit_TT JanUpdate-systErr

100

E g
/T S0 bl AR AR IR X/ 804+t f
2 60 =2
o]
kel B et Y Y Y e
8 40 \% 60
20 A0 A1 f-rr e
0 20 B
B RS SR Fhieeeeee 0

|

L | IR M1 m| L
I Y

' ,:l Fro
b
E:
1
2

1T
2 3
TPlp?T (PCA tjbobeamliné'f)

|
N
o
T T T T T T T [ TT T[T [ TT [ TT T[T TIT[TTI[TTT 71T

e
r—
;
Ratio
O 1 N W

T L3
TﬁHTI

[
1

iy
=k

[
OO
I8
[
o
I8
[EnY

<opyp, > ()

[y
o3
I8



	Contents
	Page 1


